
� No.252Q約両方-5-1 �

No.252Q約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 193.7÷ 0.3 (2) 43.65÷ 0.06

(3) 265.5÷ 0.09 (4) 1988÷ 0.3

(5) 167.4÷ 0.3

� 13th-note �



� No.252Q約両方-5-1 �

No.252Q約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 193.7÷ 0.3
646
645.6 · · ·

(2) 43.65÷ 0.06
728
727.5

(3) 265.5÷ 0.09
2950

(4) 1988÷ 0.3
6630
6626 · · ·

(5) 167.4÷ 0.3
558

� 13th-note �



� No.252Q約両方-5-2 �

No.252Q約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 8971÷ 0.9 (2) 402.7÷ 0.09

(3) 56.89÷ 0.09 (4) 718.7÷ 0.9

(5) 10.12÷ 0.7

� 13th-note �



� No.252Q約両方-5-2 �

No.252Q約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 8971÷ 0.9
9970
9967 · · ·

(2) 402.7÷ 0.09
4470
4474 · · ·

(3) 56.89÷ 0.09
632
632.1 · · ·

(4) 718.7÷ 0.9
799
798.5 · · ·

(5) 10.12÷ 0.7
14.5
14.45 · · ·

� 13th-note �



� No.252Q約両方-5-3 �

No.252Q約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 46.72÷ 0.06 (2) 1777÷ 0.7

(3) 7.95÷ 0.7 (4) 2181÷ 0.7

(5) 87.9÷ 0.03

� 13th-note �



� No.252Q約両方-5-3 �

No.252Q約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 46.72÷ 0.06
779
778.6 · · ·

(2) 1777÷ 0.7
2540
2538 · · ·

(3) 7.95÷ 0.7
11.4
11.35 · · ·

(4) 2181÷ 0.7
3120
3115 · · ·

(5) 87.9÷ 0.03
2930

� 13th-note �



� No.252Q約両方-5-4 �

No.252Q約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 6731÷ 0.7 (2) 16.89÷ 0.03

(3) 322.3÷ 0.6 (4) 580.1÷ 0.6

(5) 501.5÷ 0.06

� 13th-note �



� No.252Q約両方-5-4 �

No.252Q約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 6731÷ 0.7
9620
9615 · · ·

(2) 16.89÷ 0.03
563

(3) 322.3÷ 0.6
537
537.1 · · ·

(4) 580.1÷ 0.6
967
966.8 · · ·

(5) 501.5÷ 0.06
8360
8358 · · ·

� 13th-note �



� No.252Q約両方-5-5 �

No.252Q約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 399.4÷ 0.06 (2) 67.11÷ 0.07

(3) 19.44÷ 0.3 (4) 340.8÷ 0.9

(5) 8.25÷ 0.6

� 13th-note �



� No.252Q約両方-5-5 �

No.252Q約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 399.4÷ 0.06
6660
6656 · · ·

(2) 67.11÷ 0.07
959
958.7 · · ·

(3) 19.44÷ 0.3
64.8

(4) 340.8÷ 0.9
379
378.6 · · ·

(5) 8.25÷ 0.6
13.8
13.75

� 13th-note �



� No.252Q約両方-5-6 �

No.252Q約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 1.613÷ 0.03 (2) 554.6÷ 0.07

(3) 512÷ 0.09 (4) 0.851÷ 0.07

(5) 1165÷ 0.7

� 13th-note �



� No.252Q約両方-5-6 �

No.252Q約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 1.613÷ 0.03
53.8
53.76 · · ·

(2) 554.6÷ 0.07
7920
7922 · · ·

(3) 512÷ 0.09
5690
5688 · · ·

(4) 0.851÷ 0.07
12.2
12.15 · · ·

(5) 1165÷ 0.7
1660
1664 · · ·

� 13th-note �



� No.252Q約両方-5-7 �

No.252Q約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 743.8÷ 0.09 (2) 569÷ 0.9

(3) 234.6÷ 0.3 (4) 503.2÷ 0.7

(5) 20.08÷ 0.07

� 13th-note �



� No.252Q約両方-5-7 �

No.252Q約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 743.8÷ 0.09
8260
8264 · · ·

(2) 569÷ 0.9
632
632.2 · · ·

(3) 234.6÷ 0.3
782

(4) 503.2÷ 0.7
719
718.8 · · ·

(5) 20.08÷ 0.07
287
286.8 · · ·

� 13th-note �



� No.252Q約両方-5-8 �

No.252Q約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 65.01÷ 0.07 (2) 47.57÷ 0.7

(3) 57.52÷ 0.7 (4) 676.1÷ 0.09

(5) 42.45÷ 0.09

� 13th-note �



� No.252Q約両方-5-8 �

No.252Q約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 65.01÷ 0.07
929
928.7 · · ·

(2) 47.57÷ 0.7
68.0
67.95 · · ·

(3) 57.52÷ 0.7
82.2
82.17 · · ·

(4) 676.1÷ 0.09
7510
7512 · · ·

(5) 42.45÷ 0.09
472
471.6 · · ·

� 13th-note �



� No.252Q約両方-5-9 �

No.252Q約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 513.8÷ 0.7 (2) 443.3÷ 0.06

(3) 35.83÷ 0.07 (4) 348.9÷ 0.6

(5) 419.7÷ 0.06

� 13th-note �



� No.252Q約両方-5-9 �

No.252Q約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 513.8÷ 0.7
734

(2) 443.3÷ 0.06
7390
7388 · · ·

(3) 35.83÷ 0.07
512
511.8 · · ·

(4) 348.9÷ 0.6
582
581.5

(5) 419.7÷ 0.06
7000
6995

� 13th-note �



� No.252Q約両方-5-10 �

No.252Q約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 19.74÷ 0.7 (2) 34.91÷ 0.07

(3) 2.288÷ 0.07 (4) 4.766÷ 0.09

(5) 5.63÷ 0.06

� 13th-note �



� No.252Q約両方-5-10 �

No.252Q約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 19.74÷ 0.7
28.2

(2) 34.91÷ 0.07
499
498.7 · · ·

(3) 2.288÷ 0.07
32.7
32.68 · · ·

(4) 4.766÷ 0.09
53.0
52.95 · · ·

(5) 5.63÷ 0.06
93.8
93.83 · · ·

� 13th-note �


